it 2-3 (R T = &™)

s A LR F N4 FERT & 573t Y B2 4

EARE /P HE A (26 &)
§ ¥ i g;;%‘f ;4@ E]f%'—:%ﬂ%? gﬁg D A iy e Rl =
wl=x [ mme | A2ie/iv| #@e P o T | EREET G
5 |armem| @ “ 9 o © @ “
% - #FEixtk|- ~ A F 4 £ (Get Ready(2)|- ~ 75 B %—E’?%l—l TR [FR1-1)|-  2hxk|% - H ~ i
= #(5) B CrE)DIIRF 2 F|1-1 257 i adfie 3l FaeE bl a1 BosoE N g
[“HERT)| [Fakv] k7] RIERIA) |F lé%%i?hﬂm@i 51 [Eds 1-2] |1+ & p 2R Re
EXT D Dtostgr 1|0 o2 e & | £ chie )50 4 4 R \(2) - R
[2 B4 v v E |3 B e vk [2 &&7T )|+ & £(3)
K] f?f‘s@ﬁ‘a?(B) [~ H#Exv]|(3) [Fs k]| [SH&T]
(QEREE Lol [« kv ]
[F% R ] [~ kv ]
1 (%557 ]
[F %7 ]
* [&4%7 ]
- [/2‘/;«?{@]
g [F' F“‘?I'?]
2y [ & %) %
Earl |
Ee )
¥ - Fixtk|- ~# A 4 £\Unit 1 Thel- ~473B |% - E ~ &|1-1 2 138 [#H 1-2) |- 2 hxk|% - H = @&
LR (D F [ (B )(D[Best Drink [1-2 Rieitst#a et |8 232 4 U8 # &R\ B oA
Sz [Fagy])|(2) Bl(3) ~ Y| % 13t d i ~5-1 3w ~ |1 4 & p R IR
2 |5 4#W (2 6%T)F &+ (- ) 2 ixf & F+aeF [F1-3]((2) F 2 R4
[ ~#xrY] (D 2 it g B 5 |(3) g NE A7)V 2K A
[2&k7] [ xT) | PHGE2Q) | [*HERT)EF20Q) | [BEXT]|(D)
[y ] [SHKT) [~ #KxT] [k ]




Wi 2-3 (Bl 1+ Esig?)

[+ 244 GRS ED SHESR
257 ) [F8 %7 ]
CTEED [pote ]
(&% ]
[iin%k7 ]
(7]
(QEA
%7 ]
[R#¥ % %
¥ 1]
¥R A A £ |Unit 1 Thels ~ B#F|F - F A 4|1 TR [EF 2-1] |- 2 huR )% - QR
¢ 5 & F D (5 )(1)Best Drink |#e AR 30 Wi e i T heehe
%z ¥ [FaxT ]2 2-1 ;R R H| % 2;‘%7}.4_5%&75 Fe~5-20p i ~[2. A K% - k7 &
CERICY (54657 ] |(2) 22 a4 o B £ 8 £ W A8 221 5| w3IA(3)
[ %7 ] [ & % & F#(2) A F%iﬁ(i’;) e 1 gl [2eaky]) [Faky]
[+ E2+4 %7 ] [ s T )5 2(3) [R% 7] |F(3) 2% D NN CEREE (i)
257 ) (xR ] [t #ET]| [~ K]
[ =47 ] [~ %5 ]
3 [ 5 ~~ 1t [ &k~ ]
Earl) | [FH%v]
[k ]
CGREE D
[Fas7]
CREE
#7 ]
(R %%
¥ ]
B2 g A ERY At | Thels ~R#e A% - A L2 &0 [#F631]]- 265k [5 - 2k
. 32 /8 % F() Best Drink |#& AN Re |80~ 3-3 BEhE g (Y pedpe
¥ ®- (5) (2) 2-3 BHH T ¥ 2§ RIS M 5| [Ed 3-2] 2. A e K| - kxS
Bl ol 4o B B2 L AR R|R AR (2 F&(3)




2 2-3 (RL I = &5if?)
QA B 2 4" Q)L P o 727 [ g7 ]
v ] ¥ E¥ ()5 20 [~4xv])| [ 4%7]
[RE# % % (D [ <57 ] [F5 %75 ]
#7 ] [k ]| [&H%7] [F %7 ]
[ 5 ~=~ i [ &% ]
)7 ] [2ic%k7]
[Fxv]
[ 2w %
71

[E# % &
)71

—~
w1
wl o wf
[\ ]

R

(12 sapa | L 3-2]

&g a|lnit 2 ER E
) Rl B~ 34 Fa R Kk dp @~ |8

Let’ s Make|3-1
17 4 ehE (1) Fruit Salad | %
[2 2453 (2) (2)~
%5 ) [ZBHT]) ;4

G
p- I

I
9\

'H‘“’

P2 Rk E G R S (D)
2 EF BEFG) (3) [ 12w & %
[“Exv)| [*#ERY]) (&7
[Sau7) [ 4%7 )| [~ #x7]
[ &7])| [SHkT ]
~ov it [fssxs])| [ 2 &R
"] [ ) |%7 )
QEREE S
[+ 6%7)
[Faxv]
[ >%7)
[ 2 &3]
T ]
@ERTE
v ]
¥ ]

co P
g
—\ T\
_‘%\‘\%2‘»\ a\\%
W
o
g™
NN |8
RIE .
W
s F
= &

—t o
)

e

;u- pE

s} B

— B

N\

Do

—

ah g TN N ~ |
-l
FRE
g
"QA\
af w)
b

Q1
ey
B

B Rz F o0 [E# 1-1) |1, & ¢ 2% 4 |%




it 2 2-3 mrﬁﬁwm
ForogE A % ¥ & (Unit 2 5% - H A A|1-2 &tag | [Ee 2-1) |- Lg% = HE A%
1% (5) Let’ s Make[3-2 = & Ajen# e |80~ 3-4 % B e 3| &
[2 &%7]) Fruit Salad [p & 4o (1) ~ |% 335 P A | Rz F 0|2 # %(3) |1, £ ¢ 3+
(2) 3-3 w A5z = A frwzif%@%ﬁ% [« ] |602) |
[ # E 2R |11 4 E T M| EF() [FHurv) | [ES* 2 [£%2kT
v ] [= &5 1|02 [« #&7]) | [26%7]) k7]
[tk ] [Ziorv )| [SauE7])| [FierT) | [f#EKT]
[R#F % % [F3i47 ] [Fax7]) [SHK7]
%7 ) [ 5 ~= 1 [z 2%&7])|[2 EBR3
#5) [ 2 2% 3%7])
EdEl |
[w T %
EaEl |
[R# % =
Ee )|
ForogkE A Unit 2 - H A~ 13 8| [FF2-2) |- -1 Bl% =2 H A%
%21,/ % Let” s Make Ahp REE 3D |F e |8 DETA
I kTt Fruit Salad gedE  ERRPE | [EE 2-3] (2. 0 Giveld - g5 2
ERRE S (2) Bl # (= )% 1353 25405-3 7 R E | p HEXO) e five(2) |k & & T =%
i (4) (R 2 & . o B 5 AE(3) [“uv) [EST 503
[2&K7] eS| g (- )2 E?20) [ [A 7] | [##Kx7]) k7] [=%
[i25%7 ) [ r7) | [SauE7) | [2ex7) [AEET]
[~ &> [Zickv ]| [SH&K7]
[Faxv]|[2 ERE
[ 2%7] k7]
(2w T %
ECdEl |
[ 2 R 3]
Earl) |
[R# % &
E |




= |Unit 2

Let’ s Make
Fruit Salad
(2)

[ & 2
eS|

A

L S

4-1 = % fer

RN R -

%|(2)~4-2 2 7]

% Hcsr

i B A

F1#(2)

[ 5 ~ < @t

#7]

¥ - H A~ 4%

A ehp Rk

By AE

¥ 23F FAe
(IS
4 % 7 (3)
[#5 K7 ]
RE ED

p—
I
o

AR

(Y

N
O1
N
— o

T
£ P

ok
[\
<
Yot

e

H‘-:nL CI)—I il |-
>~ f‘%‘ w =,
=)

‘ﬁ‘h:\/
[

(=8 2-3)

R HAEE

[Z# 3-1)
k3T S~
[Z# 3-2)
I & ﬁ(3)
[+ xR~ ]
[F 3k ]
[2 &%)
[Zi5%7 ]
[Fikv]
[ 2>%7 ]
QR
Ecarl) |
[w L2
Ecarl) |
[F# %2 =%

R

me five(Z)

m}p_iiﬂ >~ ﬂ\r
?Hﬁ“
~=¥~h¥

|-l W

‘;\Z\H-HHH&\&

L % o H A

IR AFrry
- PPk
% =)
[t ]

=
FH

i

/.
N\
[S—

v Review 1(2)

QA B
#7 ]

A

o F#kc

i3 e

4-3 R &

?(3)\

WY |E 2

Fl o (z )

y - = &

B R R|ES
J )

TR

B
w 2 %K AN
2 E 72 (3)
U%??Ia]
RE TP

¥ ]

[=# 3-2]

2Pk g
~N

[## 3-3]

(3)
[k~ ]
[F3k75]
[2 &%)
[£0%7 ]
[Fik~]
[ 2%7])
[ 2 2R3
D

T % e H oA

Tk T
2k EB

T Y B4R S

+(3)

(&% ]




[w T %
EdE |
[RHF % %
Ea )
2 W B -2 ~EGREReview 1(2) |7 ~2 8% = H ~ F(2-1 2 oo [HFd 1-1]) e
(4) /& Fsh)(1) [BRF Z AP 1oL RFERFLEZT 42887 F F & 5|0
2 3(1) %7 ) BT E(2) - AL &~ 53| B eh 1L
(%5 %7 ) 5-2 £ EF|% I3 # 4| 9P BV E §|1(3) :
(R 2z & #.(2) 5 4o ) 48(3) [t 57 )2. M4tk 2
el [(FHEurv]1HZBEEFT R[S ~2 o [RERT]]
10 k2 E?203) %7 ] [ ] | [e X%
[Faxrv) | [*#&7])| [#HEKT]) &7
[Fasv ]| [+ %S
[ 7 ~ =~ it [ &K
)5 ]
Ee )
% ph 3 2 |E & E - (Unit 3 A FunlT ~ = 848|% = B ~ &2-1 2 48| [Ed 1-1]
2)/ % = F|(D Day(2) 5-3 44 R4 R |2 43 BR7F B F & X |
AP [ 7aedc~ ) |48(2) 54 3% g E S D3| R B2 MR
r(3) FIR(D > wF Tkt w4 2 0 5|10
[R#F 2% ¥ BB (T ) 4o 1 % |48(3) [~ %y ]
ELEl) (1) BB R [ EET] | [RERT]
1[4 B2 (a7 %2F20@) |[[ 7~ v [HREHERT]| [ LR ]
ELEl) [Faky] | #&7] (357 ] LR
[Fax7) [2 &R
[ 5 =~ = 1
ELEl
[RHF % %
)51




- ke 2 ckmirE|Unit SAFun|E ¥ 4 FFHF = HE A F2-2 & & b | [FE2-1] |2 - AEGAF T H ~ 5
&3 d e ()| Day(2) (=) PRHERZE LR 4-4ABF|AHBEESE | B H A
Sw N FRRIERERTY [FRKTY|FEa R % o g k| [Ee 2-2] 2. B4 2% - k£ &Y
B fix ch % 3% [F% 2 227 FH52FAALNFH-3 9|5 B & hiela(2) FILE(3)
(2) K] F-algrgEa P B RENE T AEQ) | (3) [ 5 [%257]
[ 2 2R3 #g ) Br3?2@ | [*#Euv) [74&7]) &7]
w7 ] [BEF 2R [ Rax % [#dx7]) [FAEHRT) [ &)
[ ~#xrY] K] Ecarl) | [ J 2~ v [HBET) [FEHKET]
(QUERLIE [FaxT] %7 ] [#HEu5v]| [ 2 BRE]
w7 ] [ ~=~ 1 [FF%?u]?ft?]
w71 [ 5~~~ 1

w71

Q7

D
b o~ §lr k@2 |Unit 3 A Funj» ~ Fdee P\ % = E ~ F2-2 & & | [FH 3-1) |z - MIREA S
e et 3% (D|(1) Day(2) N THERE LR 44 BFFEEEEE U B
S w4 KA [RBET)Y [EH 2 £6-1 =24 FO)# ﬁ}f‘fﬁ—i sz [w6 3-2] |1. %’zf%iiﬁ%%?
HIre K 7 ) PN B R 23R AR|F 03 EY [AEEGS) |2 -
(D) Ff2(2) ~ 6-2% 4r @ &2 I%fk_a ARG [t ) [T 2 [
[~ R~ ] A2 BEEE?2Q | [AEET) | [FERT] &7 ]
(e % [ 4xv)[Rax s [#4r7]) [HEET) [ #ET]
w7 ] Earl) | [#Hu7]) [SHKT]
[26&xr7] [Fnsky [Farv]|[2 BRE
[+ B4 % [ 5 =~ =2 1 [R# % & &7]
LD w5 ] f%’r?]
¥4 e v Unit 3AFun| ~Fdkr B\ % v B ~ x2-2 & & b|[HE# 3-2) |2 -HIREAN S
377 =& (5H) [(1) Day(2) F Y B PN gk~ 45 BRI géfr N G B 7 @
[2ax7) [HBxT)Y (R F 2 %£(6-3 drkant| 48 g1 5 ~5H-3% 3-3)] = £ (1. %%%ii}y‘l%%f;
[2 2% 3 %7 ) 5(2)-6-4=T a:lé%:*ﬁaiﬁiv‘é’é;ﬁi’ﬁ&i(?ﬁ #(2) 2
w71 2R ~ PR AR (D) [#4xrv) [ 5[

Y OB B [“Exr7) | [FER] k7]




(=) (1) wE R R[S~ ] [BERT)| [ HEET]
[FHuE7)HL 20 |[&7] [#3K7 ]| [SH&E7]
[i% %7 ) [Tk~ ]|[2 &ER3
[B% %5 ] [ ~~ 1
71
[ &%z %
171
g3 Bz -2 pLAUnit 4 My- - #HB-¥4|%e HE = 22-3 €8 [ 1-1]
4,/ % -+ /(1) Favorite B3 4y g Buih PR A 46 B E T R TR
Lo F (D) Subject(2) [T-1 ¥~ & |44 W E o~ b-3|F (3) 2. B IR & BB
[« %) [ 2 BR LIS T2 |5 1arsus |29 BRE | [BEKT]H
[2RR3F 7] B s e <P R AoAE(3) [FArkxv]| [HH T2
15 %] ot (2) (RE 2 R [ EET) (£ 2%7])
[R# % [5 ~=< /#4203 [ 2 &4
#7] #7 ) [ 5c7] %7 ]
[B% %7 ] [+ T %
)71
[ % %
7]
$ L P T ~ERr LAt 4 Myl H-94 5w B A L2308y [EH 1-2]) E T OHE R
F 1 (5) (D Favorite — |& 4 Lk PE N A S 46 B F F & 2w B F A
QR Subject(2) |T-3 B 4= 4|44 Wk 53l (3) (20 MR & EE(F 2 k) F
7] [Ft3 ] |8 o 4 )% 23 &us |27 5 E 5| [PHERY] 4 B g (3)
[ B % &3~ Ry FIFF & 5 7oL 4E(3) [Faus)| (e 2 [&HKy]
16 x5 ] )M gy [ ERTYY % 2KT]
(557 |%?203) QR Y
[%%%7 ) %7 )
[ 5 ~~ i [T %
#75 ) #75)
[E% %7 ] [E# % %
7]




it 2-3 (R T = &™)

$ L - ko7 2R LAt 4 My|r o mg ($ e BRG] v mm| [E® 2-1] |7 cALE FR(% T H A
# 5 2o 4(1) Favorite 8-1 T i7w :F|&id pF 2 & E (3) R ENI S O
» LiiR(H) Subject(2) |75 v & # |4 [T )| e 22|l F R 4|5 = %] £
[ B a =% [ B % £((2)82= &% 23+ & Lo AE o2 |A(2) B 508 (3)
%75 ] 7] A ehm f5(2) [FF R IR = (3) [ Fdedcv ]| [Fk~ ]
[~~~ 5 5 4 [FHu7]) [SHKT]
17 el | 703 [Fnskv )| [ 2 ERE
(QERES N [£2%75] |%7]
[ 5 ==+ 1 [ 2 2R3
7] %7 )
[R%Z x5 ] (2w T %
EdEl |
Ee |
B - g A A = |Unit 4 My~ e (Be E A A6l gman| (6 3117 AL | - H 2 p
#F2 2 g 4(D) Favorite 8-3 ¥ chd |4 is P N | E ~ 6-2 W2 4 R T A Fhde &
k(1) Subject B84 5 |44 B d 23 |(3) . FRiEE|S - et
D (2) Foen g B|% 3t sy 48(3) [f 57 ] |%(2) kBB (3)
bR 2 [BH 248 RpEFEAHEL B[ EET) [Fasx7]) [7aek7]) [HHkT])
18 (D ELEl) ¥ B E O~ )F kAR [z 257 ]| [&%7]
[ B a =% (1 27203 [ 2 B3 [2 ERH
ELEl) (QERES ol NN GCRE= o) EL el
[HE8%7 ] [ 5 ~ = it [ |5 T %
[2é&%5] Ecarl) | %7 ]
[Fkv] [RF % %
Ll
F L2 FF|E % 2Review 2(2) [4 ~F AL S e H A A 62 BERE|[FH 1) AETREY - E 2 p
FraoRIBF e w o n | [BHE A2 Eujh pE R R 5 AE(3) |2 &R F) | A As k
191(2) /&% ¥ (D *71 9-1 & o7 |4 [ v )| [Es 32 2. F f-b «|% = %% £
e (3) ol R R R P & e 2|5 (2) e (3)
(555 ] BED) 920 R L (3) [ ey )| [ #HT ]




it 2-3 (R I+ EBig™)
(2 57) Fak T ke A w [= %7 1| Lot 47 )
QI Az = (D~ [F2) [ 2%7]) [2 &R3
#7] 9-3 # 0 BQ [ &7 ] [f457 ) |57 ]
\F(I,Z)l;‘i”,f [ ~= 1 [Fas7 ]
22(D) Y (R ] (5 x7]
Bl (4 )| [Frsv] [R*% %5 ]
(D [ 5 =~ = 1t
[ %7 ] $c7 )
(%% ] [ 5 T %
%7 ]
[ 2 2R3
%71
[ % %
%751
Y+ Ble AT A) |Culture &+ -~ %7 AMHFE T 2R BEE|[#ERM)|T AETRS - E R g
(2)//»\ % b Festivals [10-1 @ %|g ivH = 74 4% ~ 6-3((3) [ A 4= %
£ Chinese New?;(1) ~10-2|= & & & 5|5 a2 [BRF 2 22 TR 2% - Fx 2
(3) Year(2) WEFe 2 E25r RO (FO) 7 ) 5(2) w i2(3)
20 [ R % % [Bd 2 (2 10-3 3 [Faxv)| [+#x7] [poesv )| [% %7 )
%7 ] %71 IS NG [ %7 ]
(3) ~ ¥ Bl%~ ] [ 2 &% 3
() (1) 7 )
[ 3% ]
A engdg |3 E % | Review 2(2) |8 ¥ e L KIF L 263 F 2aa [#ERFE) T AETRE - H 2 p
(5) (1) [RH % #|(=) &FF T ITE~ =¥ (3) (3) K oAz &
[RH %% x5 ] B SHEABRR [ A M IRFF A2 TR 2| 2 Fb#
o1 [ ] Feapgr S Fah F3) |KT) T ] £ (2) B B0 45 (3)
308 [Fug ] [FaescT 1| (557 )
-5 +8 | [R#H 2% [+ ]
B AR R ] [ 4 F 44
L & #7751




it 2-3 (R T = &™)




it 2-3 (R T = &™)

FEBMALER ] E 4B ERT E0RE Y St
LARE /D 1F R (26 &)

T #e

, n— N o w5 A g IFGE - 4 Ey
| =x K3E~ rIER /AT EE
4 3 3 3
(5) iR (D (2) D (3) (3) (3)

e

|
o)
Rl

1 | ~ i 38 51| ~EiciR 4 |Get Ready |- ~ #ent it
£,/ % - &) (2) k)
kg EAI[ERERT) [AERT]|I-] Gl o

I B o ST N
¢3-1 A HF ok [F& 1-2] |1.
W o~5-1 LB IRA v |

[

o
b 5
¢

9
&k

¥ 3 2(1) ()12
[ 2 2% 3% S () Pl BB E - 7 | [E#H 1-3)

7] [R8 %7 ] F B c(3) S e

2 % 2| [ %713

F-1 B ®a| e 1-11]- -

g
%
2 (3) [ 5~ | [#HKT]
(%57 ] |57 ) [ 2 %3
[ 4 ~ < @t #7 )
. %7 ) QERLT I
’ £71
: ;IEE]FQ F &
Plols - sk g|- w2 lnit 1 Al- cgatig|¥ - 8 2 p|1-1 B R | [es 131 |-
£ R v E 2 Hs(]) Surprise for| i GE R diN N
(5 (%3 %7 ] Jello(2) 1-3 ficehL 2| B € o (3-2 8 BAsek| [E# 2-1) (1.
[z B4 CErEp IEE S IO R Rk
%7 ) -4 Lie |5 13 8By - fE |t f 4 2| [2
_fﬁ g R 4e @it (3) A=zl % (3) ?/I—’;_]

(2) ~ ¥ F
= (=) (D)
(&5 45 ]

4 % [ %) [#HExT]
[ 5w T %
ERER “arl)| 27 )

A [ 2 2% 3]
5 ] %7 ]

E  alalil
0
N\
%)
—




i 2-3 (R 1

;O BR )

[FF %2 %
LD
3|% - adr 4c- JEREA(Unit 1 A= ~A#k  |F- 8 ~F[l-1 B AR | LEe 2-1) |- ~fAEY % - ¥ &g
=5 A (5)  |#&(1) Surprise for|2-1 E#css | B £ 4 3|5 o8 Rk & B E A - R
[~#E&xT )| [®EHE K] |Jello(2) BB2)~2-28 £ v R3-3 A gwm|it x4 1|20 p A g A
[ # &4 % CEE D IEE Tk AL D2 B[l PRk s [ RE(2) ¥EZ%TH
#75) 2(2) F 2B EE R AR [ [Fe 2-2) | [ 2 BRAIEEF03)
[FFHT TR e (3 & Bk 23T ] [st3c7 ]
Z oAy 2| [AERT])|? M R3)
23 (#4455 ]
[ ~= 1 [ 2 &R 3
eS| %7 ]
[ 7 % % @ERT I
‘) w71
[R5 %7 ] [ % %
# ]
4|5 = HA s g et(init 1 Al A%k % - B A p[1-2 BB 4| [Es 2-2) |- cp By [E - B A
%5 2 (1),/|£ # (1)|Surprise for2-3 i3k #c~ |+ B £ 4 2|4 - LN SN T BEX 24 a
B2k 2[5 ]ello(2) (e ff B £ R38R ol 2 8 R RN - i B
i gLP 5 (4) [R5 ]| M (2) > 2-4) 1 752 | [ied 2-3] [RKvg (D) 49 (3)
[« HEHT] A R LR R 2 PR B L 771»1"’\ B |EFpEge [ 2 RER I (ST ]
| #(1) > RY|F 4@ 8 B3 R B R T )
7] Bl (= )lg & g 2| [“ExT])
[E# %2 % (D 203 [F %7 ]
‘D | [Resav]) [ ~ > [ 2 R3]
®Y %7 )
[ B A= % QERT I
% #%7 )
(3% %] [ % %
el




= g filnit 1 A=~ &S Ages - B gD s 4 [ 31112 - 2w s o 8o~
£ # (1)|Surprise for|r = # ¥ F B £ % %2 - VT3 | TE | A Bk b
(=35 1 Jello 1 BEwh®34ad 2% [PHET]LE£H25 - %5 =
2) 3-1 £ =it i 522 i [ 2 7 42 4] (2) bhe iR
[R'5%7 ] (T = WP E BB 2F |%T ] [ 1] %[z w b 6
#(2)~3-232[F F B e 2)(3) CREEL T W (3)
Blz=acinps g o [ EsT]|%T) [“#xv] [Faxy
2) AL 2@3) [ 5 2 | [RF# % [~
[Es 7] [BExT] (%7 ] %7 ) %7 )
[ i [fe >3 (557
#7] #3 ) (% 2%7]
S orgf|lnit 2 City]Z £ &% - & 212 g8 4| [ed 1112 ~ 23755 2 4 ~ &
£ # (1)Adventure | = # S REF B £ |2 - WA BB TE R g e
[= %5 ]1((2) 7% B £ 835 ]k E e 1. £ B i 24 |
[F‘x;%?{”;] 3-3 ﬁgﬁﬁfé\v it R 5-2 Biw| [£# 1_2] =(2) 5 - 5 "
VR OREFE (S S FF R AN S B (B i [T E € ()
()R Y Bl |iF # B 5 54(3) (3) %7 ) (%5 %7 ]
(2) (D~ afissg s H LT )| (=457 1| 04 %7 ]
e g At 2(3) | (1w 2 [WFEET ]
(=) (D (55T ] |%7 ] [k 57 )
€% ol NN QLN [% %47 ]
#7] [ %7 )
[%2%7]
[0 37 ]
[ 4w %
%7 ]
[R#* %
%7 ]
v k) el ~ F & - |Unit 2 City|e ~ /] ¥ $-H A~ B3 L8| [ 13]|- ~ 224 |%= 8 ~ %
& 5 odrgs (D) Adventure |4-1 % =) #|&E & B8 8|4~ B e | TE | R B kA
(/52 3% (2) v fF melAdiE |36 w & )| [ 1-4) 3




23 (WFT i ¥ )

2 %= ok ¥ eh [Fak7 ) |((2)4-2 |5 132 AR A 2B EFEFHFF2 TH,FXF
e (1) Frrol #(2) [Fde e BRSBTS |FE(2) ]
[2EAR% [ 5 == ]2 & & %) [ %T) | [#w x5
x5 ] %7 ] B ?(3) [“#E%x7) | [RERT] %]
(%5 %75 ] [Es k)| [~ #EHET]
(GERES ‘el |
[y ]
[z 2%7)
CEE D
[w T %
x5 ]
[F# %2 =%
K7 ]
8 |% I 2% |z ~513E (2} )Unit 2 City|le ~ | #& $ - HAEN-3 g8 [Ed 2-1) | ~ 2 % 3
k = e R B & (1)Adventure  |[4-3 ] Bk M E R B 5|2 ~3-6 B ARt rﬁJ N
(5) [ %75 ]((2) ) Be(2) ~ A-4FA JoE A 52 [iEd 2-2) (2. T# | B %
[ 2% % (7 ]|l BH0R % L Rs 27 i 4o X & «'%%‘Zﬁaﬁi@) ,
K] (D) S B de e | R %1 (3) [w T %
RoO¥ OB B2 E 2 k() [ =47 ) %7 )
(=) (D) B ?7(3) [“ExT) | [W%ERT]| [~ #ERT]
[ F ~=2 i [HBKT)|[SHKT])| [EE&T]
K] (QERES el
[y ]
[% >%7 )
REED
[w T %
K]
[F# %2 %
K]
9 1% = 3 4|z ~zmm()lnit 2 City|z ~2 %7 % - B =~ €2-1 §hd | [ 2-2) [= HEGa (5w & ~ 5
" ARt B F (DjAdventure | E - E R B GRE 41 B K B R Hodh A
(5) [k 112 5-1 R |2 F SPERE % ¥ - Pk g o3k




W23 (R T A &g )

(2223 [Fas7T]|4) ¥ 234c -3 Benfl | [Fd 2-3) |1 B ¥ § =5t (3)
7] [® %7 ])|F @ & i |SHOW P A s F(2) [ &% ]
% #11p4 2((3) [E6 2-4) | [ 1w T %
(3) [ xR ][5 AE 2503 (&7 ]
CEREE N NN €= ol B Gt o NN QR B i
[E8 7] [R%#7]) &7 ]
[%B K]
[&FExRT ]
[F %5 ]
[z 2%7])
[ ¢ %7 ]
[w T %
Earl |
(R % %
?’r?]

10 % = 2z A |= ~713E (+ )Review 1 I~ AFEYv s - H A €(2-1 €k ®E | [FH 3- 1] ZoBEe G |y e B A3
Mg e 2801 B 8§ (D|Culture &= H i~ ERB DGR -2 EFS | P RE AR S SR
(/8 % #| [&44%7 ) Festivals [p-2 3 @ o4 & 4%yt 1B E g % - g
Bl (4) Farth Day(2)[# ~ 28 4o | % 2 sk i 32|55 [=# 3-2] [F(2) w27 (3)
[2 %23 [A%&kT])|> 22@) |7 § Difh-3menplR|x ¥ & a [y T 5 [SHKT]
247 ) [Farv) R ¥ F # |7 & @4 2 SHOW(S) I L (3) [K7 ]

() (D) (3) [*#uEv] | [=xR7]|[ 2 ERD
(BB ET) | [Zoa7) [ &7 [W%EHT] &7 ]
[ x7] [FE8 7]
[4%%7 )
[F %71
[z 2%7])
RE TS
(QERCE
ELEl
[R# 2 £
Ee )




Unit 3 By ew #F = A op2-1 €| [Fd 1-1] 78 A%
Clothes (=) S PEE A R 43 kp kL Er i
Shopping for|sF & &2 * ~|& sx fren B |5 #enmag ~| [d 1-2] TS Fhp
a Vledding(2) 4% % ¥ & ¥/ 5-3 skl 7 £ it 1 (3)
R cr 1%~ 5% 2|5 Lokn %3 [SHON) | afpt (3) 2| (5T )
ﬁ{%([l) ],;Z]'Q\-" P %L /;4 (& ﬁ%ﬂ ] [,:. "l‘;}f(';']
(R % £4820) |[[HEKT] | [HE%KT]
T ) [“ 7 )| [Sa%T)| [##5xT]
[~~~ (537 ]
] [Fas7]
(A% %7 ] [ 2424
7]
(eI
7]
[ % %
7]
Ei;ug,%Eal Unit 3 ;‘E%Fgﬁj%%iﬁigz_thﬁj%k&[/F"ﬁvlz]::‘%h:%g‘i‘i%,;jﬁ;bﬁ
Clothes 2 e B A R g~ 44 7K TR A ok P
Ao ’H‘@%(5> Shopping for|6-1 FF R a3k |7 p& /’{Tgﬁfﬁg BEF| A ch| m1§3§ 5 B%‘« 5 ox pl3 - s
[ = %7 ) a Wedding(2)[;z (2)~6-2 p¥|i% b3 e ~[FH 1-3] 7 (2) B3 (3)
AR (R %7 ] (B avkiz () % 13kp &3 [f14 SHOW() |3 I =) 5 o [ 2w = 3| [5ae %7 ]
€71 |M e e s [ RRT O ()57 )
4 703) [Zuxs) [ 4%T)Y [ 2
[“ERT )| [FR&E7]) [H8&%7T ] |%7])
[ 5 ~~ [ %7 )
:?/I?] { f‘&?(a]
[W%’}fff—;—] [F'~ P%?{’i]
QA
7]
[ 2w %
7]




it 2-3 (R} T = E&ig?*)

Qe i
¥ ]
$ - Ao e L% 2|Unit 3 AEE R B = B &op |22 Aagom| [ 2-1] v B ES T H A &
(D /% (1) Clothes "F e PR A RN ehg ~ 4-51% E B P ek ek kR
N 3k f o) [# 245 ] [Shopping for|6-3 PF R sl |8 s f- 0 BE | F ABeibrsg - |70 a0 . 2 e en &% - F &4
B+ (4) a Wedding(2)|* (3) ~ & ¥ |i% 5-3 B gl R | [Fd 2-2] |8 (2) B % (3)
[=x7] [Fsx5 ) F » (= )% 237 5%SHOW(3) ¥ a2 BT N[ EEET]) [&Ey])
[EHF % 2 (D T A A [ R AR ETER(S) [k ]
%7 ] [T ] de v 5 5 48 %7 ] [= %7 )
[(H3 %7 ] 17 03) [~~~ | [HREHKET]
13| [#&%7 ] [+ %] %7 ] [ 33v]
[ o= % [AfERY ]| [SHKT]
7] (R H&T) [FasT]
[ 5 ~~ ] [&uv]|[2ER
7] x5 ]
[B% %7 ] [ w3
7]
¥ ]
N ks e s g % > |Unit 3 -~ FHE % = H ~ p|2-2 AR B 2-2) (v ~ TR T
£ (2) /(1) Clothes T-1 R F Mo PEIP 4 AN g ~ 4613 & B 7 ok
¥ 4 3% = £ [#% 2% 7 ] |Shopping for|(1)~7-2 % # & sc fren B | & 3R 3 e (%52 (3) 1. 2 & &
B AR 2 a edding(2)|#r 3 £ e M| % s - 5-3 [ 3-11 |8
(3) sges 1|(1) 733 5 2w 2 st e f] R H emfid ~ (2, A 8 3 3| [ s
[ 37 ] Rp 48 s T 4 4 (SHOWES) [is8 3-2) [#(2)
4| [#FHRT ] MAE) > Rpdefe L2 [ARET]ESF S8 ¥ [HE KT ]

¥R ()11 703D (B KT] (D) [ imds ]

(D ~a s [AERv ] [sa%s]) [ %]

B ()| [h %[ R A% [HE%7]

(D v ] #7] (#3357 ]

(%) [F ~~ 1 [t ]
7] [Fa%ke]




i 2-3 (R} I = Esi?)
[RZExR7 ] [ 2 B4
earl) |
[w T %
Ecarl) |
[ # 2 %
EelD |

[E% 3-2) |z - B &
I e * K

[Z% 1-1) 2. A 5 & 3%
F5-3 B R R R T ¥ PFH(2)

- ISHOW(3) FRmma o [RexT])
Al EERTY T ~[EF LT ]
[ =457 ])(1-2)] & & it
¥R
it (3)
[ %7 ]
[k~ ]
[#F5&7 ]
(kv ]
[ s )
[205%7 ]
[z 2%7])
QY
w71
(e T %
w71
[E# % %
LD

¥ 1 3% % BT~ %0G4)F|Unit 4 Whosel-
A AoeE 200 (D) Backpack Is
B/ #¥ ¥ [&aks])|1t2(12) 8-
B=(2) [=fxrv])|(2
[#8x7] B A
(i 24 ) [

[Fa%ky]

2
1%
-
\%xﬁaﬁ
G
TRy T
E"“:M.ﬂ. ﬁ‘_m
= I B2
EPRCS
/\~’4|>‘-,—-
—~
o e

a0
fﬁ'ﬂ.

~ =

(GV)

N
B

e
=}

<
-

BE g e TE I w1

o N

ué\ﬁ

15

>
o~

7
ol B

§ 9| (&8 1-3)
iR R e g P
N L L
AEAL SN s 2

% (4 )¥F|Unit 4 Whose|™> ~w F &7 BT I
) Backpack Is|4 & .

kv )|1t2(2) 8-3 F A Feh

XD Ik .4

ool 9

16

had
"

+(2)

oo N

Tt A e
~ o gm o

oo o F
NCE-:
-

>

=1

(8§




i 2-3 (R 1

2 EBAE )

h B (2) ¥ B (A~ )% L3P o (SHOW(S) 2-1) # i [ 7]
[Zu8 Y] (D Bz F | [ AR ]| EG)
(AR ] (2 xv]|% & A Bl[sEs]|[24&5]
[Fiky] 2203 [+ xR~ ]
QA [ %7 ] [Hu 7]
w7 ] [ ? ~=> 1 [F 3k ]
[R% %7 ] 75 ) [ hsks )
(CEREE D
[% 2>%7]
[ & B33
Ecarl) |
(QEERLIE S
Ecarl) |
[ % %
el |
¥ L33 KT~ FGH)F|Unit 4 Whose|4 ~ £ |¥ v HE = pl6-1 x p e [Ed 2-2)] |7 * H =~
Lothd (D] (1) Backpack 1s|9-1 & = #8225 pr 8 Ak 38 3 (3) e~ | R SRR OB 2o
/%‘:“L“p% [ ) |1t2(2) N i R tE AT J. (=45 ]) [F# 2-3)|1. p R T|% - gt
F AR L [FK ) |0 A(2)~9-2|% 23kp o [B &) B3 FHE2) [BEQG)
(D BEEAe FHORT FIIFERTY 2487 ) | [EBEET]) | [&HEKT]
[ FF 2 % (1)~ Ry BIP Ao g s [“x7]) [£2k7]
5 ) (4 (D) |[BE2@ [ k7)) [P &7 ]
[R%ERT] [#4&v) [y x % [FHrv)| [Fsy]
17T/ [2 &%7]) #% 7 ) [ m#s )
[ 5 ~~ i CERES el
%7 ) [ 2%7]
[FE% %] [ 2 2R3
w7 ]
(s T %
w7 ]
[E# % %
D




Unit 4 Whose|- ~ AW (% = H ~ p|6-1 ~ p Rern| [FH 2-3] |7 ~ AR H |5 -
=F Backpack Is|®; o BE AL g Foenfp st~ | R gk
[ 1t2(2) 10-1 | e 8 ~6-2 A p A [EF 3-1) 1. p R X 2
[~ ][H H B 2% 23%p iopF|h®g3)  |FiE i |1 (2)
(1) ~10-2 i«:’fﬁﬂ gy 3| [26K7]|(3D) [#5 %7 ]
fﬁ%&“ﬁﬁfif*ﬁﬁi%ﬁ [“xv]| [%2%7]
L HAEFRE?20) [=4x7]| [ ’\?I';]
(D~10-3 & | [Hw = % [ &) | [Tk ]
R % ﬁiﬁ]% Ecarl) | [F3x7]
(D ~%RYB[Z ~ = [+ k)
%H) (1> w7 ] (QERES el
[ 5 ~= | [AEHKT] [% 2>%7]
7] [ 2 &R 3$
Ecarl) |
[w T %
Earl |
[EH % %
x5 ]
itk —dpdpReview 2(2) (B ¥ 4v b P\ ¥ 2 H 2 p6-2 + p Ren) [iEd 3-2) |7 - psid )y 2 H 2R
£ 5 geB | [muxrv])|(= ) (4) o PEH PR e (3) B 8 4
1 [SRE7T])|Fear* - ¢ %8 6-3 p k| [#eh %+ )2 4 5 5 48|% - Kb B
wA %ﬁic?ﬁ B P inE A R H(3) | [F R ] &/ %)
g+ ot g [2e687]) [BBKT] | [HREET] [FRKT]
&% v PR [EeET] | [FEET]|[%2%7]
CEEEILETES NIICEREENET P IHNGCEE D
earll) | (3) %57 ) %7 ) [Faky]
[ 5 ~=> [% 2%7]
#47 ]) [ 2 &% 3
[R*% %5 ] Ecarl) |
[w T %
.l |




it 2-3 (R 1

2 EBAE )

[ R &= %
5 1

(7]

[R#F % %
¥ ]
5 A AT Y —4BReview 2(2) |BF B (4) |1 M 7 2(6-3 p ReH | [FERF]|T - ppasF 2 AR
B¥F (DAL 2 [ZexT) R ¥+ E|P it~ wIHE3) (3 A eiF & 5 4
SEY AR Ik )\ [FAKT]|E 58 Tz HF [REKT]IIES 2 52 4 5 2 8% - b @
= (4) (D [RE%x5 1| 7F03) [ R = % %7 ] 2 % JCHNNERG))
(2 R4 [ 5~~~ i“1%7] [Fuxv ]| [FEKy]
20 %7 ] %75 ] [ 2%7]
[%ﬁﬁs] [ 57 ] [ %7 ]
[ ~= [ 7o [Fs7]
#5 ] 57 ]
(R =%
LD |
M43 (5)  |RAF ¥ —4EReview 2(2) [#FF# (4) |2 LH 3 H6-3 f REH | [FERF]|T - ppie]5 » AR
Gl S L T ot | 2N (€ i i A 4
(B 2% Eadk | [SRE7]| 4% |FRpFZHF [REKTYIRA 2 £2 4 5 2 BF - kb &
7] (D [@l 55 ]| RFI) [ B A2 % %7 ] =2k ACHNEAC)
21 [ ~ =< iv|kv] (R ]| [SET]
$7 ) (% 2%7]
[ 57 ] GEE XD




